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~ Answer the Questions from any one Opfion.

OPTION-A '
( Entrepreneurship )
Paper : COM-SEC-3014

)

OPTION-B
(New Venture Planning} -
Paper : COM-SEC-3024 -

a“ ;,?'

- OPTION-C N
( Computer Application in Business)
Paper : COM-SEC-3034

Full Marks : 50
- Time : Two hours . 4

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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_ OPTION-A
(Entrepreneurship ).
Paper : COM-SEC-3014

- 1. - Answer- as directed : (any four) - 1x4=4

R SR Sew foat ¢ (Rt o)

(a) Rlsk taking is a part of

-

| entrepreneursh1p (State True/False)

-"‘Wwwwemvmml |
| (vm/ orog Gerd 39)

(.b) The term ‘Entrepreneursh1p is derived
from the French word ‘entreprendre’.

(State ‘True/ False)

: ‘Entrepreneurshlp *IHCB! T XA
entreprendre 3 ot Yid |

(@5/ ww a7

(c) l:iar keting plan is not g part of business
an.

(State True/False)

@R ﬂﬁwm JF ARFER @O Ol

=l (o) won Gad )
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@)

(e)

(9)

(0

Who is a “netpreneur’?

‘Nétpreneur’ = B e

Give one example of ‘technopreneur’.

“Technopreneur’d @b Baigad |

Mention one feature of venture ‘capital.
PG TEE @b e B |
Write the full form of KVIC.

KVICJ ?Wff olCH! e )

Write the full form of NGO.
NGO- 7=} Foltht foral|

Briefly answer the following : (any three)

2x3=6

s T P ¢ (et fofAM)

(a) Explain two characteristics of creative

entrepreneur.

WW@W@W@l
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(b

@

.(d-)"

(e) .

Examine any two features of social

entrepreneurshlp

WI

Write about the business interests of

any two prominent business houses in
India.

TR wide Racw Bty
Explain two sources of business ideas.
RELES I L SR R N—

State two objectives of business
operations,

- TR IR 70 Sy S 1

Explain two basic start-up problems.

PSS 151 5 e v
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Write short notes on : (any two) 5x2=10
5y GOt %PJT (ﬁwrm ),

(@

(b)

(c)

(d)

(e)

Differences between mtrapreneur a.nd

entrepreneur

@mﬁiwmﬁ@mﬁaww
NPT '

Benefits of business groups
TR (PR FRAPTR
Angel investor

Private equity fund
&5 I Sffe

Signiﬁcénce of business plan

AR Ry oy

Importance of resource mobilisation

TR sifoieToR oy
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4. " Write an_sweré to the following : (any three)

10x3=30

' Tﬁmﬁq@mﬁw (ﬁm%ﬁ?f)

(a)

(b)

(

What is entrepreneurship ? DCSCI'le
the main elements of entrepreneurship:
3+7=10

Wﬁﬂwmﬁw%ﬁwﬁma@
Sl

Define MSME. Describe the role of small

.enterprises in the development of the

Indian economy. 3+7=10

' MSME-amw%mnwﬁa‘aw@f‘m TS

(e 1Y BT SRt 3T o |

Discuss the reasons behind conflicts
in family business. How can such
conﬂlcts be resolved ? Explain.

5+5=10
ﬂﬁﬂrﬂwﬁmwwﬁm (RIS PRI

PG 31 | TR TRICaT R A
IR =ARe ey
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J
.

(e)

(9)

What - do you understand by
stimulation ? Describe the various

- public systems of stimulation.

2+8-10

@vﬁrmqmmﬁsw? riPreTR Rty
o AAPTZ I T |

Discuss the role of self-help groups in
developing entrepreneurship.

WWW@WW
SO B9 1.

What is a project report ? Explain the
important contents of a project report.
2+8=10

Wﬂ%@mm%?mm@wﬁ
@Wwwl ~

Explain.the objectives of .orga_niseltional

controlling. Describe the steps of

controlling process in an enterprise. |
5+5=10

AR IER STIRIT W F9 | Bl
efSos FrEe aferae ez 3 =i
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(h)' What is a start-up ? Discuss the various -

types of resource moblhsatlon rcquu'ed
by a start-up.-.

KA mﬁsmﬁmﬂ—mw

WW%WWWI
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. OPTION-B
' (New Venture Planning)
Paper : COM SEC-3024 .

- 1. Choose the correct optlon from the following :

(any four) ' 1><4 4
oo IR~ wF Rewio! Ao @ﬁw 3
(Rerzal BIfb19)

(a) Which of the followmg is correct?
ﬁﬁi'\'z‘l[a@ (o wme

4 Entrepreneunal Creativity =

Boma et =

(i) Innovation + Creativity -
- B + ATl
(i) Creativity + Entrepreneurial Action
et + St i
(i) Innovation + Imagination -
TYRA + T
(iv) Thinking + Perception -
fout 3 + qioeR|
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)

Which of the following could be strength
of an enterprise ?

, ﬁ,ngi;@mnﬂﬁ@mﬂammﬁaﬁ%i?

) Goodwil hioit

(). New Intemationai Markét |

(i) Price that is too high
of$ &% g Wi

. () Location of g busines

TN ol SR

;)Vhich of the following is an important
fou::;e ?f idea generation due to their
amiliarity with market needs ?

T SR CORUD! a1t B o et

T 2

(l) Federal Government/ Federél LAl
(ii) Consumers/@w '
?',ll) Distribution Channel/ﬁl@‘ﬁ Mg
l . - ’ ‘

Y) Existing Products and Services

ﬁ'ﬁmmﬁw CRIPZ.
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(d) McDonald’s’ is an example of
‘McDonald’s’ q GF THIZI |

(i) contract
e
(i) franchising
 ofeR afE
- (i) joiht venture
~ cne ol
(iv) partnershif)
ey
(e) - Section __ defines copyright under
the. Copyright Act, 1957. . '
55 59 oI AR A2 S
I S T e w4 @
i 15 | |
(i) 14
(iii) 12
iv) 3
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0

(9)

How long a patent is valid in Indié ?

 OR®S Bl %G BRI R i AR [
(i) 30 years/wo I"J |

(i) 20 years/3o Iq
(ifi) 40 years/so I]
(iv) 60 years/vo I

Which of the follbmng is not a feature
of venture capital investments ?

WW”W%WW%W

T
) High Risk

B Remmist

@ Lack of Liquidity

| OIFETON Seig
(iii) Informal Ihvestor
SRR R

(iv) Part101pat10n of Venture Capital
suppliers in management

ARG e T RIS
AV kET
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2.

I

'Wﬁeﬁm e

‘State Fmanmal Corporatlon is an

example of .
3 < Bl |

(i) Industrial Bank
Smie @

(1) ‘Forei'gn Bank

Roelt @

(iii) Public Sector Bank -
TR AT @

(iv) All of the above

. eoRE TIBRER

Write short answer : (any three) 2V.><3=-6'

(@

(b)

(c)

‘m@mﬁms(ﬁmﬁﬁm)

Define opportunity identification
process.

(€] fﬁmwwﬁmﬁw\w ﬁzm

What is ‘bootstrappmg :
‘Bootstrapping’ M &2
What is 'copyrighf ?
I SRS WA e
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(d) Define business incubator.

- T Tt YR @ ﬁml

(e) What is sale forecastmg‘J
R ot i Ree-

) What is business plan ?

I AR o

Write answers to the following : (any two)
5x2=10

w—ﬁm@m%wﬁm (Riewtzt 7619)

- (a) Explam in brief five sources of new

business idea in. North-East India.

W—iﬁwﬂ@wmmma%ﬁrsqm
WWW|

(b) Discuss Jive advantages of startmg own
business. °

ﬁwﬁam@wﬁmmaﬁmm
Sl

- () DlstmgLush between Angel Investor and

Venture Capital Investor.,

WWWWWW
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(d) State the various factors inﬂUencing the .
pncmg policy. ' :

wzﬁm«w%mﬁ—wﬁfww
WWWI

‘(e) Write notes on limited‘liabllity

partnersh1p
s AR ST ﬁm éﬂ% CBret foran|

() State five alternatwe sources of
financing to Indian entrepreneurs .

oS SR RE @I 4R SA5hT
Ry Teoiw e F11

Write any three answers from the following :
© 10x3=30

wﬁam«wﬁmmf%ﬁm Tes ol ¢

(a) Define creativity process. Explain

the role of creative thinking in
entrepreneurship.

qﬁ*ﬂa@a@mﬂwﬁml@mﬁwa@*ﬂﬂ
foer eI TR+
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(b) What is trademark ? Explain the

(c)

(d)
- forecasting. Which technique is suitable

(e)

procedure for registration of trademark. *

mﬁmﬁﬁﬁs?mﬁm%@ﬁmﬂﬁ%@
[ F9 |

How does venture capital investor help
entrepreneurs in economic development

of the country ? Explaln with suitable
examples.

93 mmﬁaﬁsﬁw-*tmsma
WWMWW?@?@@
CHIRIN TS <t 1|

State the various technique_s of sales

for forecasting ‘FMCG’ products ?
Explain.

R SR R AT B |

" FMCG’ N8R AT AR FE

@W?WWI

What are the factors that influence the

competitive advahtage ? Discuss the

‘research and development’ as a major
source of competitive advantage

4 (Sem-3/CBCS) COM SE 1/2/3/G 16

sz‘-wﬁrmas AR cFae Yeiike
Wﬁsﬁwaﬁmﬁﬁwﬁﬁmww

T i WWW’QWW

40|

Why is preparatlon of busmess plan
necessary ? Describe in detail the-
elements of business plan.

RIS RS e I R e

wﬁaswﬁwma@mﬁwm“ﬁ-
i

@

- n
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What is a franchise agreement ? Write
a note ‘on franchising law in India.
SfEI9) 2fSoRT piE G2 oRos TR
AfoPm Wiz eoige «ft GRet ot

Define Intellectual Property Rights.
Explain the importance of Intellectual

- Property Rights.

e Tifey o e ) (fFs
oo SRR ST TR |

-~

Cbntd.




) OPTION -C ~
( Computer Application in Busmess )
~ Paper : COM—SEC— 3034

‘1.. "~ Choose the correct answer of the following :
(any Jour) 1x4=4

WWWW%@% ,
Rzt sifasy et 8

(@) The intersection of a row
is called

-qoY LIS ¥ BEy (T  @EiEm
'(A) reference

" (B) cell
( C) address

D) Spreadsheet

and a column

(b) Which of the following is a’
Spreadsheet ?

ol mf%s?
(A) MS Word

(B) MS PowerPoint
(C) MS Excel

(D) MS Access
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@

(c) Which of the following PowerPoint

features a]lows the user to- create a

givén simple preéentation quickers ?

o (0O PowerPomt e @W '

Bt e cazwz%‘ﬁﬂ IR TSR R
R e e o
} (A) Autocontent Wizard

(B) . Animation Wizard

| (C) Templates

(D) Transition

Which feature of MS Word helps to

create list in a document ? |
MS Word® «bl TFGHS (s (I8
“wifeie! IR TIW FE?

(A) Word Art"

(B) Insert

(€) Numbers .

(D) Bullets and Number?ng
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(e) A DBMS software allows the user to

Createa __

Bl DBMS W%m @ommq B

-hnaasﬁaﬁm

" (A) *document

@9

(B) sheet’

- (C) database
(D) sSQL

Which shortcut key is used to 1nsert a-

new slide ?

QMWWW&‘@W mw@m

R e

(A) Ctrl +M
(B). Ctrl+N
(C) Ctrl+0O-
(D) Ctrl+P

Which function in MS Excel tells how
many numeric entries are there ?

MS Excel® (RBI BIKSE Resigy Ry

TIYE WNZ OIS iz
(A) FIND

(B) SUM

(C) MAX

(D) COUNT
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()

Wthh of the followmg gives a- loglcal
structure: of a database graphically?

oLt @W@Wﬁﬁ? loglcal N @
oqnie PI?

(A) Entity diagram

(B) E-R diagram

(C) SQL |

(D) Database diagram

Answer the following questions : (any.three)

@

2x3=6

. —a—ﬁmaﬁ@m@mﬁﬂf (ﬁmmf%ﬁ?ﬁ)

What is template ?

" Template &2

What do you mean by animation ?

(b)
Animation Wi & g@?

(c) What is cell address ? Give examples.

- gy Ree S f)
(d) . What is the- usage of ‘Autocorrect’
' feature ? ‘
‘Autocorrect’ tﬁﬁﬁ? JzR e
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(e) What are worksheets and workbook ?

0

WWW%? .

What do you mean by entlty and

- attributes ?
o o @fiREhr e & o

Write short notes on the followmg :
(any two) S5x2=10

Tmﬁmwwmm (Rewreat gb1)

(@)
(b)
()

@)

(e)
1]

Mail Merge

Charts in MS Excel ,
Preeentations
Relational Data Model

Applications of Spreadsheets
DBMS '

Answer the following questions : (any three)

10x3=30

s it P B fint ¢ (R BT

(@)

‘Mention the steps to create table in

MS Word. How do you insert and delete
rows and columns in a table ?

4+6=10 -
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- ()

(c)

()

MS Word © Wtﬂ'«’lﬂ WWW?@

e | (5T @40 IR I SRR (FEACT

TG T Cﬂm_?ﬁﬁﬁ?

What is word processing ? Briefly

discuss any fOuf features of word

processing. : 2+8=10
mmemﬁ%ﬁ$?ﬂwémﬁ?€ﬁ%WFWEﬁﬁTFﬁﬁﬁ
i S

What is MS Excel ? Bneﬂy d1scuss any

: four features of MS Excel 2+8=10
.MS Excel 5?2 MS Excel3 Rz sif7o!

AT BILF ST T |
Briefly diecuss the usage of MS

PowerPoint. Mentiori the basic features

of MS PowerPoint. - 4+6=10
MS PowerPoint ¥ I9T T~ACE 5403 -

" Sl 91 | PowerPoint-¥ REBPTR

S 9
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(e) .

()

)

]jiscuss the usage of the following :

' wTe AR IRTN ST 31 2

() Header and Footer
(@) Bullets and Numbering

" {iii) Spell Check

What -are the functions of MS Excel ?
Discuss the usage of any four functions

with suitable examples. 2+8=10 -

MS Excel'® Fi57 &2 $oiye Srigael oits
Rie1ea 51961 =I5 wceAts w4

What is database ? What is. the use of

- SQL in database ? Briefly discuss about

SQL statements with examples..
2+2+6=10

W%?W % SQL 3 372K 3 2 Tnizgel

. (T8 SQL statement W SIS 351 |

What is E-R diagram ? Discuss about
the construction of E-R diagram with
example. - - 3+7=10
ER%%?W%W@ERTB@W
TN W alE
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